BRCA1 Mutation = YES == NO BRCA1 Mutation b YES =t= NO
N N —‘-'ﬂr“_
Ia
.
+I
i R B R e
++\.
754 754
+ otk o+,
+hch
S ® +
> g .
£ £ '
= o ]
8 8 '
S 504 S 501 1
[ < S
o o 1
I I .
< 2 e o bbb -t
2 =1
%] %}
25 4 254
04 p=0.24 o p=0.22
0 40 80 120 160 0 50 100 150 200 250
Relapse-free Survival (Months) Overall Survival (Months)
BRCA2 Mutation =k YES =t NO BRCA2 Mutation =k YES = NO
100 4 100
754 754
£ Z
2 =
8 8
o 5014 o 504
s 1%
3 g
2 s
> >
%] 17}
254 254
o p=0.56 o4 p=0.29
0 40 80 120 160 0 50 100 150 200 250
Relapse-free Survival (Months) Overall Survival (Months)
BRCA Pathway Mutation =~ YES = NO BRCA Pathway Mutation =k YES == NO
100 100
—
754 75+
2 — el g
> >
= Y = 1
g " g :
€ 504 - S 504 stae
[< e
s | I o 1
T - - © S
= B +4 = !
=1 =1 '
%] %] - = b=t
25+ 25+
04 p=0.24 o4 p=0.093
0 40 80 120 160 0 50 100 150 200 250

Relapse-free Survival (Months)

Overall Survival (Months)




